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General Instructions :

Read the following instructions very carefully and strictly follow them :

(i)
(ii)
(iii)
(iv)

(v)
(vi)
(vii)
(viit)

(ix)

67/3/1

This question paper contains 34 questions. All questions are compulsory.

This question paper is divided into two parts — Part A and Part B.

Part A is compulsory for all candidates.

Part B has two options i.e. (1) Analysis of Financial Statements, and
(2) Computerised Accounting. Candidates must attempt only one of the given

options as per the subject opted in Part B.

Questions no. 1 to 16 and 27 to 30 carry 1 mark each.
Questions no. 17 to 20, 31 and 32 carry 3 marks each.

Questions no. 21, 22 and 33 carry 4 marks each.

Questions no. 23 to 26 and 34 carry 6 marks each.

There is no overall choice. However, an internal choice has been provided in
7 questions of one mark, 2 questions of three marks, 1 question of four marks

and 2 questions of six marks.

(1)

(i1)

PART A

(Accounting for Partnership Firms and Companies)

Keshav and Karan were partners in a firm sharing profits equally.
The capitalised value of average profits of the firm was
T 18,00,000. Assets of the firm were < 20,00,000 (excluding
goodwill) and Liabilities were ¥ 5,00,000. The value of goodwill of
the firm by capitalisation of average profits method will be :

(a) ¥ 2,00,000 (b) ¥ 3,00,000
¢ T 4,00,000 d ¥ 3,50,000
OR

A and B were partners in a firm sharing profits and losses in
the ratio of 3 : 2. On 15t April, 2021 the balances in their capital
accounts were ¥ 1,560,000 and ¥ 2,00,000 respectively. The
partnership deed provided that interest on partners capital will be
allowed @ 10% per annum. During the year ended 315t March,
2022, the firm incurred a loss of ¥ 10,000. Interest on A’s capital
will be :

(a) ¥ 15,000 (b) < 9,000

(c) Nil (d ¥ 6,000
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2. (@) TSR & T ARIGH AT hl FA T ATUR 7 | 1
(a) & (b) 3™
(c) wHSA (d) TR
3Tt

(i) Toom™ S & st" AW fo9SE ouE H IRadd o 99 |IeiGRT %
ISt @l § GeRi’ i Fefafaa omuTa § gearana foham ST | 1

(a)  IW AU

(b)  AfUATH AU

(c)  YUAT AT fowTSH 31U
d) 1 Y fouSH U

8. (i) Ugh qUT W Ueh ®H U FEER o | BH o [I9eT o GHY Hgh g BH
! T T RO T 30,000 o, W AT AT T RO T 15,000 o qAT
sfafa Tefier gro fgam = =w1 = 10,000 o | GEyW YTaE fham Smom ;g
(a) TS o ROT 61
(b)  HEH h U B
(c) sfmfa i & =0

(d) & o HUT AT T & KU1 H IThI KU TR & ALAd H

HAAAT

(i) Gy qA7 1 T BH § GHER ¥ qAT 5 : 3 o AT H AW H
%rwav@%amﬂaﬁwﬁésmﬁﬁimés%n@wmﬁm%
w7 & A f T | o ¥ STy Wit b g T g & Tew R |

fafafga § 9 amft 3 fopam wmr <f=n & ugor fomam 1
1 3

(a) E (b) 2—0
2 3

(C) g (d) g
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2. (1) is the basis of relationship between the partners to run the

partnership business. 1
(a)  Offer (b)  Agreement
(c) Understanding (d)  Acceptance

OR

(ii)) At the time of change in profit sharing ratio among existing
partners, ‘Reserves’ are transferred to Partners’ Capital Accounts
in the following ratio : 1

(a)  Sacrificing ratio

(b)  Gaining ratio

(c) Old profit sharing ratio
(d)  New profit sharing ratio

3. (1) Mehak and Ravish were partners in a firm. On dissolution of the
firm, the loan given by Mehak to the firm was ¥ 30,000, by Ravish
was ¥ 15,000, and by Mrs. Ravish was ¥ 10,000. The first
payment will be made for : 1

(a) Ravish’s loan
(b) Mehak’s loan
(¢) Mrs. Ravish’s loan

(d) Mehak’s loan and Ravish’s loan in the ratio of their loan
amount

OR

(ii1)  Surbhi and Leena were partners in a firm sharing profits and
losses in the ratio of 5 : 3. Ashi was admitted as a new partner for
i share in the profits of the firm. Ashi acquired % of her share

from Surbhi. From the following, how much share did Ashi acquire

from Leena : 1
1 3
= b 2
(a) 0 (b) 50
2 3
4 d d
(c) - (d) 3

617/3/1 ~ o~~~ Page 5 P.T.O.
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(1)

(i1)

s fafies 3 T 100 Y% & 20,000, 11% RO R H4
10% Siftem w foman, St e 5% Hiftem w fohar Sm7 8 | Seoren
o g W g @rd’ o 9 91 § @il s e

(a) ¥ 3,00,000

(b) T 2,00,000

(¢) ¥ 1,00,000

d T 22,00,000

HAAAT

T fafies @ M fafies @ = 8,00,000 i afEraf= &1 w1 fmn
q«gr T 2,00,000 I FATE A | PTAH T 100 TAP h 8% FUGAT hl

20% Ateea R e e fpen srem | frifia fpe M ater o=
1 T B

(a) 50,000
(b) 5,000

() 6,000
(d) 6,00,000

‘Gfaa 4ot o wrerg 1 FEliEd § 9 81 69 9 g 2

(a)

(b)
(c)

(d)

g ST Yot 1 98 W & T8 hadt HEGT o GHIIA o6 GHI & [0
ST 2 |

g SAfved Yoil o1 I Wi 2 & 311 W 9 fofen T 2 |

I A= goit 1 98 9T & S8 Seignie 9 areaa | 9Te o form
g |

I8 3Mfeha It &1 97 Wi 2 59 I & S w1 e & fore
fifira fopem w2

9T, T TAT oG HIEIGR & AT 5 : 4 : 3 o UG § AW dled & |
1 379, 2022 %I FM AT & T | AT qAT Mg 4 38 T 1,20,000 H1
YA hich AT § 38h AT 1 563 L o | T 80,000 T YA TMUTA qqT
T 40,000 T YJTAM e o fopam | ey srgama g -

(a)
(c)

5:3 b) 4:3
1:1 (d) 2:1
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4. (1) Sunbeam Ltd. issued 20,000, 11% debentures of ¥ 100 each at a
premium of 10%, redeemable at a premium of 5%. The ‘Loss on
Issue of Debentures Account’ will debited by : 1

(a) ¥ 3,00,000
(b) ¥ 2,00,000
(c) < 1,00,000
(d ¥ 22,00,000
OR

(ii)  Nargis Ltd. purchased assets of ¥ 8,00,000 and took over liabilities
of ¥ 2,00,000 from Gauri Ltd. The payment was made by issue of
8% Debentures of ¥ 100 each at a premium of 20%. Number of

debentures issued will be : 1
(a) 50,000
(b) 5,000
(¢ 6,000
(d  6,00,000
5. Which of the following statements is true for ‘Reserve Capital’ ? 1

(a) It is a portion of the uncalled capital to be called only in the event of
winding up of the company.

(b) It is a part of the subscribed capital which has been called-up on the
shares.

(c) It is that portion of the called-up capital which has been actually
received from the shareholders.

(d) It is that part of the authorised capital that is actually issued to the
public for subscription.

6. Gopal, Krishna and Govind are partners sharing profits and losses in the
ratio of 5 : 4 : 3. Krishna retired on 15t April, 2022. Gopal and Govind
purchased her share of profit by giving her ¥ 1,20,000, ¥ 80,000 being

paid by Gopal and ¥ 40,000 by Govind. The gaining ratio will be : 1
(a) 5:3 (b) 4:3
(c) 1:1 @ 2:1
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S7fYFHYT (A) : FIEIER o R W SIS <hl Wl ATH-BI @Td o 98 91 § <hl
SIS
FRU(R):  HIHCR o kU1 W SIS ATH o foeg THR B |

ITYE AR (A) AT HRU (R) o MR | Ffafad # ¥ @&l foshed 1
W@ﬁm:

(a)  3IMHYT (A) TE 8 AT R0 (R) Ted 2 |
(b) AT (A) T @ TAT HRU (R) F&l 7 |
(c)  QHI AR (A) T HROT (R) T 2 |
(d) gFl AR (A) 99T SR (R) Toid & |

(i) T 10 T W, S8 T 2 Uid 191 fgey W fifia fokem o 7, 5@
w T8 Ua s (ffirm @fgd) am for mw g Qe
T 6 fd 1w (fiftem wfga) g = o mu g, =1 & o= fo=m | e

oft T % T e & @A A o

(a) < 10 (b) T8

(c) T 12 (d) T6
HYAT

(i) T 100 % Ush A I, G W T 70 IH R fow M0 &, T 30 i s1fem
AT T YA - i o RO, T AL o1 | 98 =Iad TR " T
39 AT ol GG TohaT ST Tehell &, & :

(a) T 170 (b) T30
¢ ¥ 100 d T 130

Feferfaa Hreqi4e Tfd &1 9ieT Tor 399 &1 T8 a1 & 37MYR | 397 &1 9 797
10 & 3T F6T -
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31, 9% AT oo AEER & 991 2 : 1 : 2 STIUTd B ATH-FIH 1 fA9TeH Hid
& | TR ISl ES: T 5,00,000, T 3,00,000 AT T 2,00,000 ff | A A
SfETd &9 ¥ 98 TR & fob forelt oft a9 A feoon & oy &1 wmr @t argier
B 5% T a9 H @ A Yot W AN ¢ o 91§ T 75,000 § HH T8 0T |
31 AT, 2022 %! HHTH §T a9 1 A9 T 2,00,000 T |
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7. Assertion (A) : Interest on partners’ loan is debited to Profit and Loss

Account.

Reason (R): Interest on partners’ loan is a charge against profits.

On the basis of the above Assertion (A) and Reason (R), choose the correct
option from the following : 1

(a)  Assertion (A) is correct and Reason (R) is wrong.
(b)  Assertion (A) is wrong and Reason (R) is correct.
(c) Both Assertion (A) and Reason (R) are correct.

(d)  Both Assertion (A) and Reason (R) are wrong.

8. (1) A share of ¥ 10 issued at a premium of T 2 per share on which ¥ 8
per share (including premium) have been called and I 6 per share
(including premium) is received, is forfeited. Share Capital
Account will be debited by :
(a) <10 (b) T8

(c) T 12 d <6
OR

(i1)) A share of ¥ 100 on which ¥ 70 has been received is forfeited for
non-payment of final call of ¥ 30. The minimum price at which

this share can be re-issued is : 1
(a) T 70 (b) T 30
(c) T 100 (d) T 130

Read the following hypothetical situation and answer questions number

9 and 10 on the basis of information given :
Anu, Charu and Divya are partners sharing profits and losses in the ratio
of 2 : 1 : 2. Their capitals were ¥ 5,00,000, ¥ 3,00,000 and ¥ 2,00,000
respectively. Anu personally guaranteed that in any year, Divya’s share
of profit after allowing interest on capital to all partners @ 5% p.a.
would not be less than ¥ 75,000. The profit for the year ending
315t March, 2022 amounted to ¥ 2,00,000.

617/3/1 ~ o~~~ Page 9 P.T.O.



9. e < it <hi ufyr F=fafaa a0 2 1

(a) < 75,000
(b) < 5,000
(c) < 15,000
(d) < 20,000
10. RS ST AR HT THRNSH L 5 99 AR’ & s 9w i S areft
3ifcd v <t Tl g 1

(a) 34 T 50,000; T T 25,000; TG T 75,000
(b) 31 T 55,000; T T 30,000; TGAT T 65,000
(c) 31 T 57,000; I T 28,000; TE=T T 65,000
(d) 313 T 45,000; I T 30,000; TE=aT T 75,000

11. foshw qem g T ®H | AT3ER 9 Q7 2 : 1% J91d H TAH-gTH o1 ToaoeH
Hd o | gt FHRISHL o 9vETq fashd dur giia i gSit sEs: T 50,000 9
Z 40,000 off | IR A o & - wm  Fow w F wEew % = A
TowT T | ST ®H | ATl Goit AT | S gRT TS TS goft ot U off ¢ 7

(a) T 45,000
(b) T 30,000
(¢ ¥ 60,500
d ¥ 90,000

12. fen fafies 3 wm fafes i £ 30,00,000 & giErfa™t aor T 12,00,000
%! ¢IAE T 23,00,000 % T ToF o Fcal o | 3T Hod b g INEFIRET T
T 5,00,000 h AR oI <hl G-l s : 1
(a) A @Id o A9 987 |
(b) St == @Td o ST 9eT o
(¢c) Toshal & @Td o w41 98T |
(d) IS F= @d % A 9g o
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10.

11.

12.

67/3/1

Divya’s amount of guarantee is short by the following amount : 1
(a) T 75,000

(b) ¥ 5,000
(¢) ¥ 15,000
d ¥ 20,000

The final amount of profit distributed among the partners after
adjustment of guaranteed amount will be : 1

(a) Anu T 50,000; Charu ¥ 25,000; Divya ¥ 75,000
(b)  Anu T 55,000; Charu ¥ 30,000; Divya ¥ 65,000
(c) Anu T 57,000; Charu ¥ 28,000; Divya ¥ 65,000
(d) Anu T 45,000; Charu ¥ 30,000; Divya ¥ 75,000

Vikram and Sumit were partners in a firm sharing profits and losses in
the ratio of 2 : 1. The capitals of Vikram and Sumit after all adjustments
were ¥ 50,000 and ¥ 40,000 respectively. They admitted Jayant as a
partner for % share in the profits of the firm. Jayant brought

proportionate capital in the firm. The amount of capital brought in by

Jayant was : 1
(a) < 45,000
(b) < 30,000
(c) T 60,500
(d ¥ 90,000

Rhythm Ltd. took over assets of ¥ 30,00,000 and liabilities of ¥ 12,00,000
of Shyam Ltd. for a purchase consideration of ¥ 23,00,000. Excess value of
purchase consideration of ¥ 5,00,000 over net assets will be : 1

(a)  Debited to Goodwill Account

(b)  Credited to Capital Reserve Account
(c) Credited to Vendors’ Account

(d)  Debited to Capital Reserve Account

~~~~ Page 11 P.T.O.



13. M AAT 79T THh BH o HEER 4 qAT 2 : 3 % UM B ATH-gIH 1 v
A T | 1 3WA, 2022 G I8 ATH-BI bl STS-sHeR sl T TgAN hl |
Y fauTeH S7guTd # dfiade o RO $3M ST LY FGT W BN

1
(a) JNT E
(b) I 1
10
2
(C) T g
(d)  3ferey %

14. U dreieit w4 6 Ffa 95t = 6,00,000 7 | SHHT 3Ed @19 T 80,0007 |
TH] YohT o IIE™ H Jfdhdl shl TH € 10% & | STy <hl Ufsr 3 :

(a) ¥ 60,000 (b) T 8,000
(¢) ¥ 20,000 @ ¥ 52,000

15. 1 318, 2021 i FHer fAfids 3 T 100 I & 5,000, 8% OIS bl 0
10% fm w foham | 31 @€, 2022 =1 99E W 9Tt 9¥ B RO W FA
Wﬁl’lﬁ[@"ﬁ

(a) ¥ 25,000
(b) T 20,000
(¢ T 50,000
d T 40,000

16. Ty fafes 3 T 100 I=F & 4,000, 6% FOTST <l 09 T 95 Ui oMo
T fHIT | 6% U9 WA o T 987 4 @il I sy -

(a) ¥ 3,80,000

(b) T 4,40,000
(¢) ¥ 4,00,000
@ ¥ 20,000
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13. Isha and Naman were partners in a firm sharing profits and losses in the
ratio of 2 : 3. With effect from 15t April, 2022 they agreed to share profits
and losses equally. Due to change in the profit sharing ratio, Isha’s gain
or sacrifice will be : 1

(a) Sacrifice i
10
(b) Gain 1
10
) 2
(¢) Sacrifice =

2
d Gain —
(d) aln5

14. A partnership firm has capital employed of ¥ 6,00,000. Its average
profits are ¥ 80,000. The normal rate of return in similar type of

business is 10%. The amount of super profits are : 1
(a) ¥ 60,000 (b) < 8,000
(c) T 20,000 (d T 52,000

15. On 15t April, 2021, Narmada Ltd. issued 5,000, 8% Debentures of ¥ 100
each at a premium of 10%. The total amount of interest on debentures for

the year ending 315t March, 2022 will be : 1
(a) < 25,000
(b) < 20,000
(c) < 50,000
(d) < 40,000

16. Sunbeam Limited issued 4,000, 6% Debentures of ¥ 100 each at ¥ 95 per
debenture. 6% Debentures account will be credited by : 1

(a) ¥ 3,80,000
(b) ¥ 4,40,000
(c) T 4,00,000
(d ¥ 20,000
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17.

18.

19.

67/3/1

Fh, HAA TA HE Th HH H HEER § | Ihl w6l
HUE: T 5,00,000, T 10,00,000 TAT T 15,00,000 off | o 7T TR ISt
AT W AN Fied & | BH T IN 31 W hl U Jdeh &g ! @ |
30 Tawa, 2021 I Hh hHI T & g | ATH H ek b HE hl AT FU=ad
feufa faaor i fafy @ gog &I fafy a6 foshg & oMuR W & St |
T 2020 — 21 1 fasha o1 @9 HEM: T 20,00,000 99T T 2,00,000 o7 |
1 379, 2021 & 30 foawr, 2021 9% fasha T 6,00,000 o7 |

(1)
(i1)

(=)

ek o AT o HIT hl TUMET hifoTT |
T H heleh oh WM o AWk hl T UsHTE=T Affse HifTT |

w fafiee 9 T 100 I & 10,000, 8% FOTTAl ol 6% o W frifua
form | UfSt &1 AW 79 YR & @@ o ¢ T 60 A W aAT AW
meed g | gyt T faferaq w1 s |

ur fAfde it geaehl § ATawTeh UsHH=T Jfafseai Hifau |

AAAT

T S 9 T 10 T o qUId: ATEd 4,000 3T, 9 W T 3wk
379 Sl 3TTEEH URT 1 YA fomam T o, o1 g0 o fornm | 3 @
2,000 3731 %! qU1 J&a T18,000 T gA:Fifa = feam m |

ST TG oh oTT ATawaeh st yfafsedt i |

T, 9 Q9T 89 FI8IER 9 a1 2: 1 : 1% 319 § @Y died 9 | TF
9 yfd 518 T 3,000 qAT AT A UG W@ T 4,000 T TGO foRAT |
TRV W 6% AT G F ST T AT STelfoh ATEHT Tel@ TR T
SIS h w3 | 64 o |

U R I TR T H G Y, (e I Yg FH 7d ELIH GHRISH
yfafse i |

AASAT

3TE AT T TR o TAT 3 : 2 o6 T § oW Fied & | 3! ISl
U T 50,000 TAT T 30,000 off | ATHEH Horl@ H IS W 6% dTfue
T Y I/ qAT &7 hl AT &4 b1 qAT §%4 &l T 1,000 & IATYH
Tl T WEYE o | 1 STaEL, 2021 HI A 7 AN b SR H fohdl
gaENd o foH1 BH 1 T 1,00,000 =7 k0T fean | 99 2021 — 22 § 3R
A T 26,800 ¥ |

31 HT=, 2022 % THH §C 94 % faQ wH 1 emd-gr fafrse @
ﬁwﬁﬁml
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17. Kanak, Kamal and Kanha are partners in a firm. Their fixed capitals
were T 5,00,000, ¥ 10,00,000 and ¥ 15,00,000 respectively. They share
profits in the ratio of their fixed capitals. Firm closes its books of accounts
on 31st March every year. Kanak died on 30th September, 2021. Kanak’s
share of profit till the date of death from the last Balance Sheet date, was
to be calculated on the basis of sales. Sales and Profit for the year
2020 — 21 were ¥ 20,00,000 and T 2,00,000 respectively. Sales from 1st
April, 2021 to 30th September, 2021 were T 6,00,000.

(i) Calculate Kanak’s share of profit.
(ii)  Pass necessary journal entry to record Kanak’s share of profit. 3

18. (a) M Ltd. issued 10,000, 8% Debentures of T 100 each at 6%
discount. The amount was payable as ¥ 60 on application and the
balance on allotment. All money was duly received.

Pass necessary journal entries in the books of M Ltd. 3
OR
(b) A company forfeited 4,000 shares of ¥ 10 each fully called-up, on
which application money of ¥ 3 each has been paid. Out of these,
2,000 shares were reissued as fully paid up for ¥18,000.
Pass necessary journal entries for above transactions. 3

19. (a) Raman, Manan and Naman were partners sharing profit in the
ratio of 2 : 1 : 1. Raman withdrew < 3,000 every month and Manan
withdrew ¥ 4,000 every month. Interest on drawings @ 6% p.a.

was charged whereas the partnership deed was silent about
interest on drawings.
Showing your working clearly, pass the necessary adjustment
entry to rectify the error. 3
OR

(b) Arun and Barun were partners sharing profits in the ratio of
3 : 2. Their capitals were ¥ 50,000 and ¥ 30,000 respectively.
Partnership deed provided for interest on capital @ 6% p.a. to Arun
and Barun and quarterly salary of ¥ 1,000 to Barun. Arun had
given a loan of ¥ 1,00,000 on 15t October, 2021 to the firm without
any agreement about interest. For the year 2021 — 22, the profits
earned were T 26,800.
Prepare Profit and Loss Appropriation Account of the firm for the

year ended 315t March, 2022. 3
67/3/1 ~~—~ Page 15 P.T.O.



20.

21.

22,
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IfSreht qem fraT T WH W ATRIGR ¥ qT Il GSit shEST: T 1,00,000 T
< 80,000 of | 3= 1 378@, 2022 H whr F st A i Wt 3 fg e
w4 &1 Tk T AR SR | e oot gt % fetw = 90,000 @ | fEm 3
A9 UTT 1 SfeTEr af¥rept qun fIrgr & sue-ser fhan | w1 6 @t 6
TUHT IR q9T 98 "G 7Y ok frem @nfa fiftem 1 stoen wm e 97,
e & gasr W Ay UsHmEn yfafsedt Hifu | 3199 % % W ®9 9
qIST |

g9 fafee T 10 3% & 1,00,000 THaT 3190 H faw=s T 10,00,000

ﬁmqﬁﬁ%waﬁ%%ﬁ | P | ST ol M % TTT 80,000 FwaT
37191 EaTfad fopu | TR a1 YA Ufd o7%1 1 TR | ST o

ATded | - T3,
AT W -T2,

T IEAT W — T 37qA
qEl w@ Al A=A 1A

frim qui &9 & Af%ed 8 T a1 Bfd sl AEfed 2,000 3T W YoM T 3
ITET bl Bl Gl TR U1 BT T8 | 3Teh AT T 80T T ToraT T4 |

HEOT AU, 2013 T T L, 9T 1 o IR HFal & el foawor 4§
3191 Sft gurtsu | gt o fotu @ral & em ot dar i |

o, wfa qum =1¢ FEER 4 AT 5:3:2 % IIAM H W Hied 9 |
31 9, 2022 1 37ehT et foawor =1 yspr & o -

31 HT, 2022 R (a1, Hia 94T <1 1 feata feeron

- gﬁa e ;rﬁrr
fafay der 70,000 | fH a1 HaA 3,50,000
e 1 K0T 20,000 | Tieh 3,00,000
sfiwfa <=me =1 o 20,000 | &TeR 2,00,000
o g1 gE@g™ 10,000 | 1,90,000
T 4,00,000 RETSS 70,000
ia 3,00,000
=g 1,00,000 | 8,00,000
9,10,000 9,10,000
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20.

21.

22.

67/3/1

Vanshika and Shikha were partners in a firm with capitals of ¥ 1,00,000
and ¥ 80,000 respectively. They admitted Nisha on 15t April, 2022 as a
new partner for % share in the future profits of the firm. Nisha brought
T 90,000 as her capital. Nisha aquired her share equally from Vanshika
and Shikha. Calculate the value of goodwill of the firm and pass
necessary journal entries on Nisha’s admission, assuming that Nisha did
not bring her share of goodwill premium in cash. Show the working

clearly.

Pawan Ltd. was registered with an authorised capital of ¥ 10,00,000
divided into 1,00,000 equity shares of ¥ 10 each. The company offered to
the public for subscription, 80,000 equity shares. The amount per share
was payable as follows :

On application — < 3,
On allotment - ¢ 2
On first call — T 3and

On second and final call the balance
The issue was fully subscribed and all amounts due were received except
the first and final call money on 2,000 shares allotted to Chavi. Her
shares were forfeited.
Present the Share Capital in the Balance Sheet of the company as per
Schedule III, Part I of the Companies Act, 2013. Also prepare Notes to
Accounts for the same.

Ravi, Kavi and Chand were partners sharing profits in the ratio of
5:3:2.0n 315t March, 2022, their Balance Sheet was as follows :

Balance Sheet of Ravi, Kavi and Chand as on 315t March, 2022

A t A t
Liabilities m;un Assets m;un
Sundry Creditors 70,000 | Land and Building 3,50,000
Chand’s Loan 20,000 | Stock 3,00,000
Mrs. Chand’s Loan 20,000 | Debtors 2,00,000
Capitals : Less provision 10,000 | 1,90,000
Ravi 4,00,000 Cash 70,000
Kavi 3,00,000
Chand 1,00,000 | 8,00,000
9,10,000 9,10,000
-~~~ Page 17 P.T.O.



23.

67/3/1

ITh fafer ot wd o1 foeres & m |

(1)

(i1)

(iii)

(iv)

Yl 91 991 TF Wi &l T 6,00,000 H o= T T | TGN § T
T H 10% A ! THA 53 |
ofiafa =g o 0T &1 FH9eH 3= T 22,000 T Teh HFIL oL Tohall TR
fT&ehT i@ g&dehi | &1 ot |
a3 T 30,000 I AR & TH TAER 1 9T 38 T 20,000 T PTAH

ek oA |
Y THERI Tl Tehg YA L Team T |

I AT IR HINT |

(%)

Alcd fafds 9 T 10 I% & 80,000 THAT 7TM I T 4 Ufd I &
Hiftrm W frifia 6 & fow emaes smf=a fohe | ufst &1 ymam f=
TR © <F o :

AP | — T 5 Ifd 3w

AW W — T 9 i 1w (Hiftem wfga)
1,40,000 3191 o Q@ 3T/aed W gW qon Wl SATeGeRl I STHUAH
JMYR T ATEH T T T | oG W ITH AR TRT T THRISH
A W e U d o foren mn | wefe, e 1,400 3em & o
e TR o, 3Tee TS &1 YA i T 3TTha &1 | 3ok 3730 I
1 L fom | g H, $9 gwor fohn Tw oTen bt < 9 i orw qut wed
g fifera o foam mm |
ST oGl % fau dem fafies it qeael § ravEss UstTmEn
gfafsat Hifsre |

3T

[ fafies 9 T 10 I&% & 2,40,000 THAT 7901 Sl T 4 Ufd 37
it w fifia 0 & foiw see smf=a e | afsr &1 ymam fe=
TR H T AT

A W — T 4 Ifd 3191 (T 2 Hiftaw a@fza)

e W — T 4 Tl 39

o Ud SAfqH A=t W — T 6 Ui 219 (T 2 Hifem wfza)
3,00,000 31 & AU 3Teigy H Y qur @l TGl hl AT
YR 9T AT T ATEA L TG TAT | 3ol W ITH Afdfh Aeed
TS o1 TR 3TTeed W ¢ U # L foram mn | weft S fafereq
91" & TS, Ufeh o Biest e 7,500 37901 % foAw smmaed foram o qe
STt AT AT YoM TF AT AT 1 PIAH hid H 3THhd @ |
ST TGl o T Sffod fafies i g&aehl H STE9aeh U
gfafeat HIfT | el ATeava 8, 3Ted Ar=-T Wral qein AH Jr=ET G
GIfeTu |
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The firm was dissolved on the above date.
(1) Land and Building and Stock were sold for ¥ 6,00,000. Debtors
were realised at 10% less than the book value.

(ii))  Mrs. Chand’s loan was settled by giving her a computer of ¥ 22,000
not recorded in the books.

(iii) Ravi paid off one of the creditors ¥ 20,000 in settlement of his
amount of ¥ 30,000.

(iv) Remaining creditors were paid in cash.
Prepare Realisation Account. 4

23. (a) Lotus Ltd. invited applications for issuing 80,000 equity shares of
T 10 each at a premium of ¥ 4 per share. The amount was payable

as follows :
On application — < 5 per share and
On allotment - T 9 per share (included premium).

Applications were received for 1,40,000 shares and allotment was
made to all applicants on pro-rata basis. Money overpaid on
applications was adjusted towards sums due on allotment. Rajiv,
who had applied for 1,400 shares, failed to pay the allotment
money. His shares were forfeited. Later on, these forfeited shares
were reissued at ¥ 9 per share as fully paid up.

Pass necessary journal entries for the above transactions in the
books of Lotus Ltd. 6

OR

(b)  Tulip Ltd. invited applications for issuing 2,40,000 equity shares of
T 10 each at a premium of ¥ 4 per share. The amount was payable
as under :

On application — < 4 per share (including premium ¥ 2)

On allotment - < 4 per share

On first and final call — ¥ 6 per share (including premium < 2)
Applications for 3,00,000 shares were received and pro-rata
allotment was made to all the applicants. Excess application
money received with applications was adjusted towards sums due
on allotment. All moneys were duly received except from Rohini
who had applied for 7,500 shares, and failed to pay allotment and
first and final call.
Pass the necessary journal entries for the above transactions in the
books of Tulip Ltd. Open Calls-in-arrears and Calls-in-advance
account, wherever necessary. 6
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24.

67/3/1

() o A @ TR, SN 3:2 % UG § AW died I, H 31 A, 2022
o1 feufa forewor 7 YR 9 ot :

31 A=, 2022 h1 & AT & okt feafa feremor

. Tt et Tt
S T T
TER 30,000 | S d Uhs 20,000
a9 SaR-=gE Sy 12,000 | TR 85,000
A J=d 25,000 | =T IGYE 5,000 80,000
g ik 1,30,000

ED 1,60,000 IEERN] 60,000
@ 1,40,000 | 3,00,000 | =K 77,000
3,67,000 3,67,000

1 3T, 2022 i 38 9 H % a7 & fou 1 =1 Fefafegd wat ®
Tsh AT HISIGR S 1 i foma

() T I gt % fT T 1,00,000 G MG h I AW & folw
T 50,000 Tfd Hiftem amwm |

(i) ¥ 2,000 T TH HEH I o 3G AT |
(iti) eI ST SR e T 50,000 o1 |

(iv) U CgR, fSreh! SAGRT i $9d 0T o &9 H AMARgd L Te
T T, 3 Ul fqgeH § T 12,000 W1 YTAE R |

YHEATR QAT A1 HIEIER] % Yol @Td daR I |

AAAT
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24. (a) On 315t March, 2022 the Balance Sheet of partners A and B, who
were sharing profits in the ratio of 3 : 2 was as follows :
Balance Sheet of A and B as at 315t March, 2022

A A t
Liabilities m;unt Assets m;un
Creditors 30,000 | Cash at Bank 20,000

Investment

Fluctuation Fund 12,000 | Debtors 85,000

Less
General Reserve 25,000 | provision 5,000 80,000
Capitals : Stock 1,30,000
A 1,60,000 Investments 60,000
B 1,40,000 | 3,00,000 | Furniture 77,000
3,67,000 3,67,000

On 15t April 2022, they decided to admit C as a new partner for %

share in the profits on the following terms :

(1) C brought ¥ 1,00,000 as his Capital and ¥ 50,000 as his

share of Premium for Goodwill.
(i1)  One month salary ¥ 2,000 was outstanding.

(i11) The market value of investments was ¥ 50,000.

(iv) A debtor, whose dues were written off as bad debts, paid
T 12,000 in full settlement.

Prepare Revaluation Account and Partners’ Capital Accounts. 6

OR
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(@) ofan, Trar qon war Tk BH H H@TEER ¥ 91 2 : 2 : 1 % 319 A
AT &ed 9 | 31 |, 2022 i 3k feafa fqawor 9 g @

q1
31 "=, 2022 1 3faT, It qen Hiar =1 feafa feamor
S qfyr gt iy
T T
g o qem wed 4,80,000
At 2,00,000 IEER 1,20,000
T 2,00,000
TR 1,50,000
LS| 1,00,000 | 5,00,000
Y= T= 30,000 | 1!
’ PIERIE] 10,000 | 1,40,000
NG ALY 5,00,000 | ik 1,20,000
S H Uhg 1,70,000
10,30,000 10,30,000

39 Tafy =i, AT ®H & FaTHaT 81 TS 99T IV AEERI A AT
ST @A 1 Mo foren | fEraiEl o QIHeAehd a9 cFaretl
gAHgRe = g g

(i)  H I BAd H oA T 3,00,000 TRt T |

(i) Y7 AT I B T 1,23,000 TR A |

(iii) §Fd@ FT T 20,000 & | TERI W Tfgy =0l & foIw 10% *1
T T o7 |

(iv) @l sl = g T 80,000 T TLd YTAH L feam = | 39
T 1 FEaFator 38 ®O @Wid ¥ K T mn Rwept ymam @
SR TSk fohvdl H 10% ITi¥eh et & <IN digd fomam ST |
AT & HATHET B T T @Il aT FTEGRI o Yol @Td dar
I |
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(b)  Anita, Geeta and Sita were partners in a firm sharing profits
and losses in the ratio of 2 : 2 : 1. Their Balance Sheet as at
315t March, 2022 was as follow :

Balance Sheet of Anita, Geeta and Sita as at 315t March, 2022

A t A t
Liabilities OV | Assets moun
< <
Capitals : Land and Building 4,80,000
Anita 2,00,000 Investments 1,20,000

Geeta 2,00,000

D 1
Sita 1,00,000 | 500,000 | DePtors 150,000

General Reserve 30,000 ;ics)\szision 10,000 | 1,40,000
Creditors 5,00,000 | Stock 1,20,000
Cash at Bank 1,70,000

10,30,000 10,30,000

On the above date, Anita retired from the firm and the remaining
partners decided to carry on the business. It was agreed to revalue

the assets and reassess the liabilities as follows :

(1) Goodwill of the firm was valued at ¥ 3,00,000.

(ii) Land and Building was to be appreciated by < 1,23,000.

(iii) Bad debts amounted to ¥ 20,000. A provision for doubtful
debts was to be maintained at 10% on debtors.

(iv) Anita was paid ¥ 80,000 immediately by cheque. The

balance amount was transferred to her loan account which
was to be paid in two equal annual instalments along with
interest @ 10% p.a.

Prepare Revaluation Account and Partners’ Capital Accounts on

Anita’s retirement. 6

~aa~ Page 23 P.T.O.



25.

67/3/1

qUT, TR G RUehT Teh BH H HIEGR & Q7 2: 2 : 1 % T H ATH-gIH
Sied 9 | 31 °7, 2022 i 31 f=ufd foawor g ywr @ o -

31 W, 2022 i qUT, I qAT Hivent ot feufa feeror

ECilE LRERE RN 5,00,000
qw 3,00,000 wih 1,00,000
At 2,00,000
EaiEa) 1,00,000 |  6,00,000 Gl 00,000
A= = 50,000 | Sk H Tehg 40,000
TER 50,000
7,00,000 7,00,000

31 IS, 2022 I T hl Gog & T8 | HIEEH] i@ o JHR Tdeh HT3GR

fsarees f7 & geheR 9

(i)  HTEER % 9ot @ 9 |

(i) ¥ 15,000 ATRHH 7 |

(i) Tafd o 9w gt T fUse di9 awt % ofed @i % g T %
YR T ! S |

(iv) Tood cr@mhd ay 6t gure & gog i fafy 9 i § v fSeehl o
fUoc a9 o oW o STMUR T hH! A@ | 2019 — 20, 2020 — 21 T
2021 — 22 % @9 A T 1,00,000, T 2,00,000 TAT T 1,50,000 & |

(v) g9 9 17, 2022 F 39 AT ST % T T 20,000 T AT
fopam |

Y R I TCAl H G §Y 3Gk HIIGehi hl TEd L &g qUT H1 GSH
QT IR Eﬁ“\aq |
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25. Trisha, Anisha and Rishika were partners in a firm sharing profits and
losses in the ratio of 2 : 2 : 1. Their Balance Sheet as at 315t March, 2022
was as follows :

Balance Sheet of Trisha, Anisha and Rishika as at 315t March, 2022
A t A t
Liabilities m;un Assets m;un
Capitals : Plant and Machinery 5,00,000
Trisha 3,00,000 Stock 1,00,000
Anisha 2,00,000
Debt 60,000
Rishika  1,00,000 | 6,00,000 | o0 ’
General Reserve 50,000 Cash at Bank 40,000
Creditors 50,000
7,00,000 7,00,000
Trisha died on 315t July, 2022. According to the partnership deed, the
executors of the deceased partner were entitled to :
1) Balance in partner’s capital account.
(ii)) Salary @ ¥ 15,000 per quarter.
(iii) Share of goodwill calculated on the basis of twice the average of past
three year’s profits.
(iv) Share of profits from the closure of the last accounting year
till the date of death on the basis of last year’s profit. Profit for
2019 — 20, 2020 —21 and 2021 - 22 were ¥ 1,00,000, ¥ 2,00,000
and ¥ 1,50,000 respectively.
(v)  Trisha withdrew ¥ 20,000 on 15t May, 2022 for her personal use.
Showing your working clearly, prepare Trisha’s Capital Account to be
rendered to her executors.
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26. (%) 1 &, 2021 I 47 s 4 T 20 T&% % T 15,00,000, 9%
T Sl T 6 Ui RO o og W FifHa fmn | st fafs == et &
Gfayfa ifem ¥=w @@’ ¥ T 1,00,000 AT o1 | 31 AL, 2022 H
HIGHT < QT ATIH, 2013 % AL o FTHAR FOGHAT o FHA T
2 il IUTAIRGd i o1 o foqam |
RO oh [T 9T SROT9S] o AT W 3 i 3MfiRgd i o folg
AT USHH=T T(aseal i |

(@) 131, 2021 ! G fAfes 7 AF fafwee & W 1 s foham | @i
fafiee 3 O fofies & war o = 10,00,000 1 T = fifia feen
qAT 6 A8 o UTAN <F T 5,00,000 T T fafma-o wfpa fomam | 2
T &1 YPIaH T 100 T o 5,000, 10% 9T o faT gra feman

IR I
SR oFedl o fow @ fafies it geaesl § TavEes  UsHTEE]
gafeear HifsT | 3+3=6
CIRRC)
fowea - 1
(Terfirar ferarott =1 ferveraoD)
27. () Tr=fafed & @ sF-a1 @rvvear saa 787 % 1
(a) bl MY AU
(b) g w g™
(c) FAIHE UM
(d)  I=Ad JJITd
YT
Gi) FrefaRea @ @ sa-an o< faawon = faveor’ &1 ue areF 2 1
(a) Ushg JaTg foemm
(b)  rH-gTH ferewor
(c) Teufa faewo

(d) (a) qAT (b) THI
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26. (a) On 15t October, 2021 Pihu Ltd. issued ¥ 15,00,000, 9% Debentures
of ¥ 20 each at a discount of ¥ 6 per debenture. The company had
a balance of ¥ 1,00,000 in ‘Securities Premium Reserve Account’
on the same date. On 315t March, 2022 the company decided to
write off discount on issue of debentures according to the
provisions of Companies Act, 2013.
Pass necessary journal entries for issue of debentures and writing

off discount on issue of debentures.

(b)  On 1 st April, 2021, Soma Ltd. purchased land from Mona Ltd.
Soma Ltd. issued a cheque of ¥ 10,00,000 and accepted a bill of
exchange payable after 6 months for ¥ 5,00,000 in favour of Mona
Ltd. The balance amount was paid by issuing 5,000, 10%
Debentures of ¥ 100 each at par.

Pass the necessary journal entries in the books of Soma Ltd. for

the above transactions. 3+3=6
PART B

OPTION -1
(Analysis of Financial Statements)

27. (1) Which of the following is not a ‘Profitability Ratio’ : 1
(a)  Gross Profit Ratio
(b)  Return on Investment
(c) Proprietary Ratio
(d)  Operating Ratio
OR

(ii)) Which of the following is a tool of ‘Analysis of Financial
Statements’ : 1
(a)  Cash Flow Statement
(b)  Statement of Profit and Loss
(c) Balance Sheet
(d)  Both (a) and (b)
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28. (i) U HIUHl I FU-AHA JAE 2 : 1 8 | Fefifgd & @ SH-a1 oF e
SRUI-GHAT 3T <l TGIET ?
(a) ¥ 1,00,000 % 3730 1 =
(b) T 4,00,000, 9% OIS T FTHT
(¢) ¥ 3,00,000 % =G 3730 h1 FfeA
(d) T 50,000 % HHGRI I WIAH
reran

(i) 31 HrE, 2022 H UH L aY H gl fafee 4 &9 @@ = ¥ @
< 15,00,000 FT g 9 ARG fFa1 | HE F T 50,00,000 FT TH
10% SrEehTeiE RO o1 | T & 40% & | HFAH] 1 SIS TR0 AT

BT

(a) 27T
(b) 37T
() 127
(d)  1-57

29. fr=feifgd # & S19-8 T &1 9o Ushg T Uehg qed I FA=qdig ah ¢
(@) T 80,000 ! ANTA 1 HB=R T 75,000 H S= =T
(b) T 5,00,000 % S=E AT 1 FHIEA
(¢) T 15,000 TATNGR ¢ T YA
(d) TR g™ W T 11,000 H Ig™ YgH fohar m

30. fmfaRaa ¥ & eF-T1 o oy nfafafern @ Tere yare @ wefua 737 2 -
(a) T 25,000 i foquH- Sfafan 1
(b) T 2,80,000 h fF w1 fosha
(¢) ¥ 3,00,000 % fafr=mm < fosha
(d) T 1,00,000 % TIA HT I
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28. (i) The Debt-Equity Ratio of a company is 2 : 1. Which of the following
transactions will increase the Debt-Equity Ratio ? 1
(a) Issue of shares ¥ 1,00,000
(b)  Issue of 9% debentures T 4,00,000
(c) Issue of bonus shares T 3,00,000
(d) Payment of creditors ¥ 50,000

OR

(ii)  During the year ended 315t March, 2022, Shradha Ltd. earned net
profit of ¥ 15,00,000 before interest and tax. The company has a
10% long term debt of ¥ 50,00,000. The tax rate is 40%. The

Interest Coverage Ratio of the company will be : 1
(a) 2 times
(b) 3 times
(c) 1:2 times

(d) 1-5 times

29. Which of the following transactions would result in inflow of cash and
cash equivalents : 1
(a) Furniture costing ¥ 80,000 sold for ¥ 75,000
(b) Issue of bonus shares ¥ 5,00,000
(c) Payment to trade payables ¥ 15,000
(d)  Provided depreciation on fixed assets ¥ 11,000

30. Which of the following transactions is not related to cash flows from
investing activities : 1
(a)  Purchase of marketable securities ¥ 25,000
(b) Sale of land T 2,80,000
(c) Sale of investments T 3,00,000
(d)  Purchase of equipment ¥ 1,00,000
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31. SFH! rfafem, 2013 T ST 111, 9FT I TR HF i HefaRad #al
i feafd foewor & qe wfiehl qem ISl (A g §) o F=id fihd
i

() G SR
(i) AW y" ™

(iii)  YSTd SRl I &)

32. UH fopdl Q@ FIUIGI S TEATHT TF 3ok Hewd 1 3g@ hitaw  F=hl 0T
THIEE! o IHTEYYU STAM T SMETRG STE™ o J=TeH! sl SHTfaehdl sl AT
o fore <1 STt 2 |

33. (%) T=AfaIRaa g1 & bt oY STIUTA I TUHT HIWT :

3Ea sl (W) T 1,60,000; o=l 3AT&d 3@ 8 THT; 3ited
AMIS I T 2,00,000; SATMNG YT 3T I 6 AT AT TG

forsha et Torshd =T 25% |

AT

(@) fmfcRea = @ SRiEia IS TmEd qdTa i 7oAt i
ot Ieft T 1,00,000
I=q qiEra o T 80,000
Tl § AT AT T 3,20,000

Hehed ATH AUTd 20%
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31.

32.

33.

67/3/1

Classify the following items under major heads and sub-heads (if any) in
the Balance Sheet of a company as per Schedule III, Part I of the
Companies Act, 2013.

(1) Mining Rights
(i1) Income received in advance

(iii)  Capital work in progress

Identify and state the significance of any two ratios that are calculated to
measure the efficiency of operations of business based on effective

utilisation of resources.

(a)  Calculate Gross Profit Ratio from the following information :

Average Inventory ¥ 1,60,000; Inventory Turnover Ratio 8 times,

Average Trade Receivables ¥ 2,00,000; Trade Receivables
Turnover Ratio 6 times and Cash Sales 25% of Total Sales.

OR

(b)  From the following information, calculate Working Capital

Turnover Ratio :
Capital Employed < 1,00,000
Non-Current Assets < 80,000

Cost of Revenue from Operations < 3,20,000

Gross Profit Ratio 20%
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34.

67/3/1

7 STculeh HIF i UleU 9T 38k YR W U 7T I3 1 I ST
Th-gAsfear fimm § If@ g oee A ‘e fafie @t % &9 A
2016 H ©: 3 Jddehl o HIY AT Teh 91 HGH™ A fopam | e
AR 3T=BT ANH 3T L W&l 8 | 31 7T, 2022 i 3TTee fdfies &t foxfia
feufa e g ot

31 A=, 2022 hi AR feafues o feufa feerm

P dle | 31.3.2022 | 31.3.2021
g, T T
I - |HAT dAT IATU :
1. civures fAfeat
(%) or Sl 19,00,000 | 17,00,000
(@) w= ug Ao 1 6,00,000 |  3,00,000
2. A9 FATE
eIl 39T 2 5,00,000 |  4,00,000
3.  aTe] ANy
(%) IR IUN 1,70,000 | 1,75,000
(@) TehIA JTa4™ 4 2,00,000 | 1,65,000
g 33,70,000 | 27,40,000
II - gt~
1.  3rue yiEmEt
(%) worh it
(i) 7o aiEe ot 5 24,00,000 | 19,00,000
(i) 3T afeErafaat 6 4,00,000 |  3,00,000
(@) o= Few 1,00,000 |  2,00,000
9. e uREwdfEt
(%) = faw 1,40,000 | 1,70,000
(@) i (ATeTE=I) 2,60,000 | 1,30,000
() ks T Uhg oo 70,000 40,000
EX 33,70,000 | 27,40,000
~~—~
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34.
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Read the following hypothetical text and answer the given question on

this basis :

Azad, inspired by ‘Make-in-India’ mission, initiated his start-up in the
form of a company ‘Azad Ltd.” along with six other promoters in 2016.
The company has been earning good revenue consistently. The financial

position of Azad Ltd. as at 315t March, 2022 was as follows :

Balance Sheet of Azad Ltd. as at 315t March, 2022

Particulars Note | 31.3.2022 | 31.3.2021
No. 3 4
I - Equity and Liabilities :
1. Shareholders’ Funds
(a) Share Capital 19,00,000 | 17,00,000
(b) Reserves and Surplus 1 6,00,000 3,00,000
2. Non-Current Liabilities
Long-term Borrowings 2 5,00,000 4,00,000
3. Current Liabilities
(a) Short-term Borrowings 1,70,000 1,75,000
(b) Short-term Provisions 4 2,00,000 1,65,000
Total 33,70,000 | 27,40,000
IT - Assets :
1. Non-Current Assets
(a) Fixed Assets
(i) Tangible Assets 5 24,00,000 | 19,00,000
(ii) Intangible Assets 6 4,00,000 3,00,000
(b) Non-current Investments 1,00,000 2,00,000
2. Current Assets
(a) Current Investments 1,40,000 1,70,000
(b) Inventories 2,60,000 1,30,000
(c) Cash and Cash
Equivalents 70,000 40,000
Total 33,70,000 | 27,40,000
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Notes to Accounts :

Note 31.3.2022 | 31.3.2021
No. = =
(1) Reserves and Surplus 6,00,000 3,00,000

(Surplus i.e. Balance in Statement

of Profit and Loss)
(2) Long-term Borrowings

12% Debentures 5,00,000 4,00,000
(3) Short-term Borrowings

Bank Overdraft 1,70,000 1,75,000
(4) Short-term Provisions

Provision for Tax 2,00,000 1,65,000
(5) Tangible Assets

Machinery 26,00,000 | 20,00,000

Less Accumulated Depreciation (2,00,000) | (1,00,000)

24,00,000 | 19,00,000

(6) Intangible Assets

Goodwill 4,00,000 3,00,000

Additional Information :

(1) T 1,00,000, 12% Debentures were issued on 15t April, 2021.

(ii)) A piece of machinery costing ¥ 80,000 on which accumulated
depreciation was I 40,000, was sold at a gain of ¥ 10,000.

Calculate cash flows from ‘Investing Activities’ and ‘Financing Activities’. 6
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PART B
OPTION -11
(Computerised Accounting)

(1) From the following a legend can be repositioned on a chart : 1
(a)  On the corner only
(b)  Anywhere
(c) On right-side only
(d)  On the bottom of x-axis

OR

(ii))  Which of the following are the five pillars of computerised

accounting system : 1
(a)  Data, Report, Ledger, Hardware, Software

(b)  Data, People, Procedure, Hardware, Software

(c) People, Procedure, Ledger, Data, Chart of Accounts
(d)  Data, Coding, Procedure, Rules, Output

Which of the following menu is used to create a group : 1
(a)  Gateway to Tally > master > accounting information > display

(b)  Gateway to Tally > master > edit > accounting information

(c) Gateway to Tally > master > accounting information > create

(d) Gateway to Tally > master > alter > accounting information

From the following, identify the Accounting information sub-system

which generates periodic reports about sales and collections made : 1
(a) Cash and Bank sub-system

(b)  Sales and Accounts Receivable sub-system

(c) Inventory sub-system

(d)  Budget sub-system
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i) Absence of data items is represented by one of the special values
from the following i.e. :

(a)  Single value
(b)  Stored value
(¢)  Multi value
(d)  Null value

OR
(ii)  The process of comparing input data with some unknown data is
called :
(a)  Storage data
(b) Information data

(c) Data entry
(d) Data validation

Differentiate between ‘Generic software’ and ‘Specific software’ on any
three bases.

Explain the following two features of Computerised Accounting System :
(1) Simple and integrated

(i1)  Accuracy and speed

(a)  State the steps to be taken in preparation of a chart.

OR
(b)  What is meant by Accounting Cycle ? State its basic phases.

Name the financial function which returns accrued interest on a bond

with 5% coupon rate and where issue and settlement date of investment
is also given. Also explain its syntax.

~~~~ Page 39





